Higher Mathematics Quest

St Line Multiple Choice Ex

1. What is the distance, in units, between the points (—1,2) and (4,5)?

NE
B. V16
C. V34
D. /58
Key | Outcome | Grade | Facility | Disc. | Calculator | Content Source
C 1.1 C 0.64 0.5 NC Gl HSN 054

T distonce s | (4- COP+ (5-a)
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2. What is the distance, in units, between the points (a,b) and (—b,a)?

A V2VaZ + 12

B. V2(a+Db)

C. v2(va+vb)

D. 2Va2+b?

Key | Outcome | Grade | Facility | Disc. | Calculator | Content Source
A 1.1 C 0.3 0.23 CN Gl HSN 011

d2= (- o)+ (b-of
= (a+ )+ (b-a)
= 2+ deb b+ b -0k +o*
= 202+ 0
= 2(a+b%)
d = Jalar+e?) s >0
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3. The line through the points (—2,5) and (7,4) has gradient 3.

What is the value of a?

A. 8
B. 22
C. 28
D. 32
Key | Outcome | Grade | Facility | Disc. | Calculator | Content Source
D 1.1 C 0.58 0.16 NC G2 HSN 05
o—5 _ a5 _
m=———= =2 =3
7-(-2)
So -5 =237
o= 32 Option
4. The equation of a line is 3y = ax + 1 where a # 0 is a constant.
Given that the line has a gradient of Z, what is the value of a?
21
N
7
B. —%
7
c. I
21
D. %
Key | Outcome | Grade | Facility | Disc. | Calculator | Content Source
D 1.1 C 0.5 0.64 NC G2, G4 HSN 162
= 1
BU ax + X Co Mapm_tb
a
«j—”—g%*ﬁ—g. Sa (VL:% 35"\&%‘:9
a-Z
3 5
o = % Oplion
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5. The line with equation y = ax + 4 is perpendicular to the line with equation
3x+y+1=0.

What is the value of a?

A -3
1
B. 1
1
c. !
D. 3
Key | Outcome | Grade | Facility | Disc. | Calculator | Content Source
C 1.1 C 0.7 0.62 NC G2,G5 HSN 089
3e+y+d =0 Compaie o

Y =-3-1. Somz=-3 Y=marC
The e y:aﬂ(ﬁ—[{’ [/llngmdw’\L M, =Q

Stng e lwes oae perpondeador, myxm=-1, G
—3a.= -4

= % : Opt(on
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6. The line with equation y = — %x +4, where a # 0 is a constant, is perpendicular

to the line with equation y = %x +1.

What is the value of a?

A —6
B. -3
c. 3
D. 6
Key | Outcome | Grade | Facility | Disc. | Calculator | Content Source
C 1.1 C 0.53 0.41 NC G2,G5 HSN 151
Toe qodienb of y=-2%+4 & -2 ( Coponyto
J Y=~ a X Mpanng
Y=mxtc.

SG & &
3= da
o=

Plw

Tha 3(@%0{3:%%+1 IS %.

=-1 suee U s age pependiculor.

Option
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7. The line I passes through (3, —2) and is parallel to the line with equation
y = 3x +5.
What is the equation of ?
A x-2y+1=0
B. x-2y-7=0
C. x=2y+7=0
D. x-2y—-5=0
Key | Outcome | Grade | Facility | Disc. | Calculator | Content Source
B 1.1 C 0.57 0.39 CN G3 HSN 06

Ry—k‘? =x -3
X — 29—?:0.

TM&MH:%%H’MWW 3 %
X~

g—(f;l) :%(x~3)

Cption. [B]
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8. Find the equation of the line passing through (6, —4) and parallel to the line with

equation 2x — 3y — 1 = 0.
A, 2x—-3y—24=0

B. 3x+2y—-10=0
C. 2x—y—-16=0

D. 2x-3y—-18=0

Key | Outcome | Grade | Facility | Disc. | Calculator | Content

Source

A 1.1 C 0.63 0.33 NC G3, G2

HSN 158

Mobhod 1 T equation s the fom 2x-3y +¢ =0
and passes though (6,-%)
So Axb-dx(-4)+c=0

12+424+C =0
C=-23

Muthod & dx-3y-1=0 & 39:6&%—1
_2 1
® Y33

S ng [N %

Yyt =% (a-¢)

Sy+49=9x-13

dac- 33-‘9& =0 Option 4 |
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9. A straight line has equation y = —x + 4.

Quest

What angle does the line make with the positive direction of the x-axis?

A 45
B. 120°
C. 135°
D. 150°
Key | Outcome | Grade | Facility | Disc. | Calculator | Content Source
C 1.1 C 0.53 0.65 NC G4 HSN 161
_ COM{)NQ"CD
m=-1 Y=ok C
P=-1 \
W«() = bou* (1) @&@
= 190 — 4oui* (1)
= 130 -45
= 135 Oplon
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10. Given that (1,0) is the midpoint of A(—3,4) and B(b,2), what are the values of a

and b?
a b
A | -2 4
B. | -2 5
C. 2 -5
D. 4 -2
Key | Outcome | Grade | Facility | Disc. | Calculator | Content Source
B 1.1 C 0.82 0.43 NC G6 HSN 079
o b-3 9+a
MPOMRB = < —2— ) T) = Ki,O)
o 724 g oo
2 o
b-3 =2 Q+o.=
b=5 a=-2 Op”[mn
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11. Triangle ABC is shown below.

Quest

B
A¢ H »
D C
Here are two statements about the line BD:
I. BD is an altitude of triangle ABC
II. BD is the perpendicular bisector of AC
Which of the following is true?
A. neither statement is correct
B. only statement I is correct
C. only statement II is correct
D. both statements are correct
Key | Outcome | Grade | Facility | Disc. | Calculator | Content Source
D 1.1 C 0.74 0.37 NC G7 HSN 068

T & correch <ot thae Uime posses ﬂuouﬁh veax B
and 8 perperducutar To The oppeste side.
I & anech suee the Tnangle s Goscelus. Option. [ D]
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12. Triangle ABC with vertices A(—4,1), B(4,3) and C(1,5) is shown below.

W c

O X

Point M(0, 2) is the midpoint of AB. What is the equation of the median through
C?

A 3x—-y+2=0

B. x—-4y+8=0
C. 4x+y-2=0
D. 3x-y—-1=0
Key | Outcome | Grade | Facility | Disc. | Calculator | Content Source
A 1.1 C 0.78 0.38 CN G7 HSN 138
5-9
Mye= 7. = 3
1-0

So thae equodion 1§ y—2=3(%—0)
L2 5%—y+2=0. Ofﬁow
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13. Triangle ABC with vertices A(6,7), B(7,0) and C(—1, —2) is shown below.

Yy

©)

A

c4

/B'x

The line through C and B has gradient }I' Find the equation of the altitude

through A.
A 4dx+y-11=0
B. x—4y+22=0
C. 4x+y-31=0
D. 8x—-3y—27=0
Key | Outcome | Grade | Facility | Disc. | Calculator | Content Source
C 1.1 C 0.55 0.67 CN G7,G5 HSN 128

My =—F sme m

B

CX Malt:—j—

Using Mgy and A(67): -7 =—F(1-6)

;Lj:% = 4 + ¢

4%+y-3130,

WMHEI
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14. What is the gradient of the straight line shown in the diagram?

Quest

Y4
60°
0 X
A —V3
1
B. —1
_1
C. Ve
1
D. 7
Key | Outcome | Grade | Facility | Disc. | Calculator | Content Source
C 1.2 C 0.49 0.33 NC G2, T3 HSN 147
m.= o, 150° @
= - 20
3 "01&
© %

N~
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15. A line makes an angle of 60° with the positive direction of the x-axis.

What is the gradient of the line?

Quest

A. V3
B. ¥

1
C. 75
D.
Key | Outcome | Grade | Facility | Disc. | Calculator | Content Source
A 1.2 C 0.53 0.15 NC G2, T3 HSN 03
m =‘tom60° W
_ \[g W= tOJ/\fs )

Cylin
[END OF QUESTIONS]
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